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(1,2 Jan - New Year's Day)

Welcome to SIDA. I'm Kelvin.
This year, | want to tell you
about Patent claims.
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(16,17 Feb - Chinese New Year)

(30 Mar - Good Friday)

Patent claim is the most important
area you need to understand. Because
it define the scope of your patent.

If you want sue some one
for copying your invention,
the court will use your claims
to decide if you win or lose.

element B. To win, your

competitor must have all
element in your claims, A, B

wheels car. It has (A) Body,
(B) Engine, (C) Steering and

wheels car" because
(D) Four wheels is different
from (D1) Three wheels.
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- (1 May - Labour Day) (29 May - Vesak Day) (15 Jun - Hari Raya Puasa) : .)
In SIDA, we used a simple Lets say you invented the car. You : : ) cf’e
concept to help you understand write a claim that include 4 elements Some one invented a fllntston'e g (
patent claims. We call it "SIDA (A) Body. (B) Engine. (C) Steerin ) car. It has (A) Body, (C) Steering i/
ABCD Principle". D) FOU?"Wheels_g . 9- and (D) Wheels. o
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because it does not have : Anyother pgerson in\):entcjed a three|| You cannot sue the "Three

an amphibious vehicle.

(E) Floatation mechanism.

oIt has (A) Body, (B) Engine,
(C) Steering, (D) Four wheels and

C and D. (D1) Three wheels.
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(6 Nov - Deepavali)
You guess right ! You can sue
the "Amphibious vehicle"
because it has all the elements
(ABCD) in your claims.

T

(25 Dec - Christmas Day)

O,

S
And this is how the patent claims QS’/
works. If you want learn more, 3)
come and join SIDA! =)
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